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Answer five questions, taking one from each Unit
UNIT—I

1. (a) Define set. Explain the different types of
sets. 1+5=6

(b) There are 1400 students in a college.
1250 can play football, 952 can play
cricket and 60 students can neither
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(2)

play football nor cricket. How many
students can play both cricket and
football? 4

(c) Define Cartesian product. Find the
Cartesian product of XY, if

X={x:x=1 2}
Y={y:y=x -1 1+3=4
2. (a) What is break-even point? 2

(b) Define a function. Explain its types. 2+6=8
(c Solve the following by method of
substitution : 4
x+6y-z=10
2x+3y-3z=17
3x-3y-2z=-9

UNIT—II

3. (a) Define real number. Explain the
axiomatic properties of a real number.

1+6=7
(b) Prove that

d=\/(x2 -x)% +(y - y)? 4

(c) Find the slope of the line passing
through (@+k, b+k) (@+m, b+m). 3
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(b)

(c)

(b)

()

(b)
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3
Express (—ii) in the form a + ib, where

a and b are real numbers. 5

Find the coordinates of P(x, y) dividing
the line segment joining (1, 2) (3, 4)
externally in the ratio 5: 4. 4

Find the standard form of the parabola
y2 -4y-4x-8=0.

5
UNIT—III
State two basic limit theorems. 2+2=4
Evaluate the limit of the function
2 _o,_
lim Jc2 2x-3
x-3 x“ +x-12 4
Explain the rules of differentiation. 6
Find out the maximum and minimum
value of the function
Y =x3 -9x2 +15x +20 6
Given total cost function as
0% -302 +15Q0+27
Find AC and MC. 2+2=4
( Turn Over )
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(© A Monopoligt

faces g dem
P=4¢0_ 2 and schedyle

and TC =9 +0-5¢2. How
ould it se]] tq maximize profjt>

UNIT—IV
Define integration. What are the basic
rules of integration? 2+6=g
(b) Find the integral of the following : 3x2=g
\
@ [ (Sx +3)dx |
” |

(i) 2x+3

x2 +3x

dx

8. (@) Suppose the Producer’s supply function
is given by Q=+V—4+4p and market
price is 10. Find the producer’s surplus, §

(b) Find the integral of the following : 3x2=¢
. 2
@) [ x? +5) dx

(@ Px®-2x+3) (8x-8 ax

UNIT—V

9. (a) Define matrix. What are the types of
matrix? 2+5=7
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(5)

(b) Prove (A+B) =A’+B’ when

2 0 {4 0O
= a.n.dB=
A [1 3] {0 1] 3,

230
= B=
A[SIZ}

then show that AB1is not equal to BA. 3%

(€ I

- N P
o W

10. (a) Solve the equations using Cramers
rule : 7
3x-2y+3z=8
2x+y-z=1
4x-3y+2z=4
(b) Solve the following system of equations
by matrix inversion : 7
2% +3x9 - x5 =15
Ox) +4x, +2x5 =16
3x) +2x, +0x5 =18

* % %
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